ECN 3890

Spring 2007
Review Questions for Exam 1

Make sure you look at all assignments (4) as well.  (There were 3 out-of-class and 1 in class.)
Chapter 2

Questions from the end of chapter: 1, 2, 4, 6
In terms of the labor/leisure model, what information is embodied in an indifference curve?  In terms of the labor/leisure model, what information is embodied in a budget constraint?  Why are indifference curves downward-sloping?  Why are they convex to the origin?

Indicate in each of the following instances whether the specified circumstances will cause a worker to want to work more or fewer hours and explain why:


a.
the wage rate increases and the substitution effect is greater than the income effect.


b.
the wage rate decreases and the substitution effect is less than the income effect.


c.
the wage rate decreases and the substitution effect is greater than the income effect.


d.
the wage rate increases and the substitution effect is less than the income effect.

Comment on the following statement: "Leisure must be an inferior good for an individual's labor supply curve to be backward-bending."

Comment on the following statements: "If a married woman's husband gets a raise, she tends to work less.  If she gets a raise, she tends to work more."

The "supply-side" economics of the Reagan administration presumed that income tax cuts (a decline in the tax rate) would provide incentives to individuals to work more.  Demonstrate this with a labor/leisure diagram.  What does their conclusion assume about the relative sizes of the income and substitution effects?  Explain.  From what we learned in class about the differences in these effects for men and women, would you expect the work incentives associated with tax cuts to have a greater effect on women or men?  Explain.

John has nonlabor income of $150 per week and can earn a wage of $9 per hour.  Draw John's budget constraint assuming that the maximum number of hours that can be worked each week is 100.  Suppose that John maximizes his utility by working 40 hours per week.  Show John's choice using an indifference curve.

a.
What would happen to John's budget constraint if the government places a lump-sum tax on each individual of $40 per week?

b.
What would happen to John's budget constraint if the government places a proportional tax on each individual of $1 per hour worked?

c.
Compare the labor supply effects of each of the two taxes discussed above.  Your answer should include a comparison of income and substitution effects.

Teenagers under 18 in New York State are prohibited from working more than 8 hours a day (56 hours per week), except if they work as golf caddies, babysitters, or farm workers.  Consider a 16-year old whose primary use of time in the summer is studying for college entrance exams and practicing a musical instrument, but who also has two options for paid work.  She can work for $6 per hour with a catering service (limited to 56 hours per week) or work as a babysitter for $5 per hour (with no limitations on hours worked).

a.
Draw the budget constraints for each of her paid-work options on separate diagrams (assume that she can do either job but not both).

b.
Analyze the possible decisions she might make, making special note of the hours restriction.  What factors will influence her choice?

In the following questions, assume that we are looking at the daily labor/leisure choice of an individual (Marty) and the maximum number of hours that can be worked per day is 14.  Marty has nonlabor income of $25 per day and earns a wage of $10 per hour.

a.
Suppose that the Marty's commute is on a highway that is about to begin charging a toll of $2.50 per trip ($5 per round trip).  There is no other way for him to get to his job.  What will happen to Marty's budget constraint as a result of the toll?  What will happen to his hours of work as a result?  Explain.

b.
Suppose instead that Marty's job is currently very close to his house so it takes him essentially zero time to commute to work.  His company is considering moving to a nearby town and it will take Marty a total of 10 hours a week to get to and from work. What will happen to Marty's budget constraint as a result of the toll?  What will happen to his hours of work as a result?  Explain.

Chapter 3

Questions from the end of chapter: 1, 2 (think traditionally), 5, 6

In 2005, the U.S. had a non-institutionalized population (age 16 or older) of 226 million.  Approximately 141.7 million individuals were employed, while another 7.6 million did not have employment but were actively seeking work.  What was the labor force participation rate in 2005?

What is meant by "reservation wage"?  Comment on the following statements (you may want to use a diagram to explain each):

a.
Other things equal, an individual's reservation wage will increase as nonlabor income increases.


b.
If the value of nonmarket time increases, the probability of labor force participation falls.

One way of aiding low-income families is to increase the minimum wage.  An alternative is to provide a direct transfer payment.  Compare the impact of these two options on the probability of labor force participation.

Chapter 7

Questions from end of chapter: 1, 2

Discuss how differences in discount rates or in ability across workers will lead to differences in schooling levels and earnings.

Debbie has just finished high school and is about to decide which type of education to get.  She has narrowed down her options to two alternatives.  She can either become a marine biologist or a concert pianist.  Suppose that Debbie only lives two periods.  In the first she gets an education and in the second she works in the labor market.  To study marine biology, Debbie will have to spend $15,000 on tuition and books, but she will then earn $472,000 in the second period.  If she becomes a concert pianist, Debbie will have to spend $40,000 in the first period, but she will then earn $500,000 in the second period.

a.
Suppose that the discount rate is 5 percent.  Which career will yield Debbie a better return?  How would your answer change if the discount rate is 15 percent?  Can you draw any conclusions from this concerning how changes in the discount rate affect the decision to invest in education?

b.
Suppose that music conservatories raise their tuition so now it costs Debbie $60,000 to become a concert pianist.  Which career would Debbie choose if the discount rate was 5 percent.  Can you draw any conclusions from this concerning how changes in the cost of education affect the decision to invest in education?

Comment on each of the following statements:

a.
"Given the work-life cycle of the 'traditional' woman, it may be rational for women to invest in less human capital than men."


b.
"An economic recession tends to stimulate college enrollments."


c.
"Age-earnings profiles generally show that people with more education earn more than those with less education.  Therefore, personal spending on education is always a good investment."

Indicate the implications of the following on the estimated rate of return for a college education:


a.
the possibility that a portion of one's expenditures on college should be considered as consumption rather than as investment


b.
the fact that people who go to college are generally more able than those who do not


c.
the fact that jobs acquired by college graduates generally have more generous fringe benefits than the jobs of high school graduates

